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FERSH mit T?;fﬁi Bt w
(A) (B) (C) = (A)+(B) ©) /(N
1 HBINHEEE 97,602 2,463 60, 065 104. 3%
+ K 40, 646 3, 097 43, 743 107. 6%
AR EETR 16, 956 A 634 16, 322 96. 3%
2 BERMAHEES 13, 318 A 68 13, 250 99. 5%
+ K 10, 597 A 43 10, 554 99. 6%
FEMRKEETR 2,721 A 25 2, 696 99. 1%
3 EEZZ=Xa1EE 11,285 455 11,740 104. 0%
+ K 9,171 453 9,624 104. 9%
JEERIK PERD 2, 114 2 2,116 100. 1%
4 HFEBEE 9,395 371 9,772 104. 0%
+ K 9, 345 377 9,722 104. 0%
AR EETR 50 0 50 100. 0%
5 RAEXE 830 44 874 105. 3%
+ K 789 44 833 105. 6%
JEERIK PERD 41 0 41 100. 0%
6 KEEIRBEE 6, 181 0 6, 181 100. 0%
+ K 3,909 0 3, 909 100. 0%
AR EETR 2,272 0 2,272 100. 0%
a Hi 98, 611 3,211 101, 882 103. 3%
+ K 74, 457 3,928 78, 385 105. 3%
AR EETR 24, 154 A 657 23, 497 97. 3%
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